Exercises

©10.4 r[oz31 We indicate an operating policy that can be used in the fol-
lowing exercises.

* If there is a descending sequence p; — 0 and h; positive such
that h; balls of radious p; are enough to cover K, then

log h;
limsup ————= log (p) < limsup ———— 08+

. 10.4
S og(Lp) = TP og(T/p) (104)

« If, on the other hand, there is a descending sequence K — 0,
and C,, C K finite families of points that are at least distant 5
from each other, i.e. for which

Vx,y € Cpox #y=>d(x,y) 21, (10.5)

then

NGp) log;
£10 > lim inf . 10.6
im in log( Joy = mint ) (106)

where [; = |G is the cardinality of Cj. Note that the points
of x € Cj are centers of disjoint balls B(x,r/2), therefore
l; < P(5/2), as defined in [ovs].

In particular, if

log h; log I;
lim sup Clfia] = lim inf &

_— = 10.7
WS e e gy P (107

then the set K has dimension .

[ roza1]
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